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SECTION - A
Answer ALL the questions: (10 X 2 =20)
1) Find out whether the data are consistent
(A)= 100, (B) = 150, (AB) = 60, N =500
2) Write the formula for Yule’s Coefficient of partiaksociation between A and B with C.
3) Define probability of an event.
4) What are the parameters of Binomial distribution?
5) Define type — | error.
6) State any two situations where Poisson law carppbedl.
7) Give the test statistic for the test of specifiedgortion.
8) Write the ANOVA table for two way classification.
9) What are the various types of control charts?
10)Give the control limits of th& and R chart.

SECTION - B
Answer any FIVE of the following: (5 X8 =40)

11)In a class in which 135 candidates were examinegrfaficiency in English and
Economics, it was discovered that 75 studentsdaiteEnglish, 90 failed in Economig

and 50 failed in both. Find if there is any asstaie between failing in English and

Economics using (i) Yule’s coefficient of assoaatiand (ii) coefficient of colligation.

12) In calculating the premium payable foe lifisurance policies, insurance companies use
information derived from mortality tableAn extract taken from a mortality table is give

below:
Males per 1,000 births
Age in years 0 25 45 65 75
Number of males living 1000 958 905 680 413

Find the probability that a male agedi2l§ (a) attain the age of 45 years, (b) attaia th
age of 45 years but not 75, (c) not attae age of 65 years.

13) In an examination, 30% of the students Haied in mathematics, 20% have failed in
chemistry and 10% failed in both mathecsatnd chemistry. A student is selected at
random. What is the probability thatti¢ student has failed in mathematics if it is know
that he has failed in chemistry? (ii) stedent has failed either in mathematics or
chemistry?

14) If the chance of running a bus service atiog to schedule is 0.8, calculate the
Probability that on a day schedule withblis services (i) exactly 1 is late (ii) atleast 3
late, (iii) atmost 2 is late.

15) The customer accounts of a certain depatéhstore have an average balance of Rs. 11
and a standard deviation of Rs. 40. Assgrthat the account balances are normally
distributed, find what proportion of acos is (i) over Rs. 150, (ii) between Rs.100 and
Rs. 150 and (iii) between Rs.60 and RS8. 9
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16) A sample of 400 male students is foundateeha mean height of 171.38 cms. Can it be

reasonably regarded as a sample frarge population with mean height 171.17 cms
and standard deviation 3.3 cms?

17) The following tables gives the yields ofsinples of plot under three varieties of seed.

A 20 21 23 16 20
B 18 20 17 15 25
C 25 28 22 28 32

Test using analysis of variance whethere is any significant difference in the average
yield of seeds.

18) In a certain sampling inspection, the nandf defectives found in 10 samples of 100

each are as follows:

16, 18, 11, 18, 21, 10,28,17 and 21
Do these indicate that the quality chemastic under inspection is under statisticaltoalf?
SECTION-C

Answer any TWO of the following: 2 X 20 =40)
19) (a) The first of three urns contains 7 whaihd 10 black balls, the second contains 5 white
and 12 black balls and the third contdingvhite balls and no black balls. A person
chooses an urn at random and draws drbailit. The ball is white. Find the probabilities

that the ball has been drawn from (i)fihs (ii) the second and (iii) the third urn. 2#8)
(b) A random variable X has the follogiprobability function.

X 0 1 2 3 4 5 6 7
p(X) 0 m 2m | 2m | 3m m | 2nf | 7nf+m
(Find the value of m (ii) Evaluate @) X <6 ) (b) P(>X6) (c) P(0<X<5)

20) (a) A factory employing a large numbemairkers finds that over a period of time, the
average absentees rate is three woplegrshift. Calculate the probability that in aagiv
shift (i) exactly two workers will bésent and (ii) more than four workers will be
absent and (iii) less than three waskeitl be absent. (12)

(b) State any four properties of noratatribution. (8)

21) (a) In a certain city 380 men out of 80@ ®@und to be smokers. Discuss whether this
information supports the view that nmgyoof men in this city are non-smokers?

(b) 10 accountants were given intensiv&ching and four tests were conducted in a
month. The scores of tests 1 and 4&aen below:

Serial No. 1 2 3 4 5 6 7 8 9 10
Marks in f'test | 50 42 51 42 60 41 70 55 62 38
Marksin4"test| 62 | 40 | 61 | 52| 68| 51| 64| 63 72 5

Does the scores fror test to test A test show an improvement? (8+12

22) The yield (in kgs per plot) of four strainsgrhllipoli wheat planted in five randomized
blocks is given below:

Blocks
I [l 11l v \Y
A 32 34 34 35 36 Strains
B 33 33 36 37 34
C 30 35 35 32 35
D 29 22 30 28 28

Test whether (i) there is any significarffatence in the mean yield of blocks.
(i) there is any sifycant difference in the mean yield of wheats
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